
5413 5413.5 5414 5414.5 5415
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

3.8−

3.6−

3.4−

3.2−

3−

2.8−

2.6−

2.4−

2.2−

2−

1.8−

1.6−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta
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2X
4e

Y

delta46_12X4eY:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum
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6091.5

6092

6092.5

6093

6093.5

6094

6094.5

6095

ru
n

run:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

0
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1

1.5

2

2.5

3

se
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t

segment:cyclenum {run == 6093}



5413 5413.5 5414 5414.5 5415
cyclenum

71.5−

71−

70.5−

70−

69.5−us
l_

1X
usl_1X:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

3

3.5

4

4.5

5

us
l_

4a
Y

usl_4aY:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

38.5

39

39.5

40

40.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

16.6

16.8

17

17.2

17.4

17.6

17.8

18

18.2

18.4

18.6

18.8

us
l_

4e
Y

usl_4eY:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

40.5−

40−

39.5−

39−

38.5−

us
l_

12
X

usl_12X:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

6091

6091.5

6092

6092.5

6093

6093.5

6094

6094.5

6095

ru
n

run:cyclenum {run == 6093}



5413 5413.5 5414 5414.5 5415
cyclenum

130.5−

130−

129.5−

129−

128.5−us
r_

1X

usr_1X:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

8.6

8.8

9

9.2

9.4

9.6

9.8

10

10.2

10.4

10.6

10.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

221.5

222

222.5

223

223.5

us
r_

4e
X

usr_4eX:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

8.6

8.8

9

9.2

9.4

9.6

9.8

10

10.2

10.4

10.6

10.8

us
r_

4e
Y

usr_4eY:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

45.5−

45−

44.5−

44−

43.5−u
sr

_1
2X

usr_12X:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

6091

6091.5

6092

6092.5

6093

6093.5

6094

6094.5

6095

ru
n

run:cyclenum {run == 6093}



5413 5413.5 5414 5414.5 5415
cyclenum

18408

18408.5

18409

18409.5

18410

us
l_

co
il1

usl_coil1:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

3181

3181.5

3182

3182.5

3183

us
l_

co
il3

usl_coil3:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

4874

4874.2

4874.4

4874.6

4874.8

4875

4875.2

4875.4

4875.6

4875.8

4876

4876.2

us
l_

co
il4

usl_coil4:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

249.6

249.8

250

250.2

250.4

250.6

250.8

251

251.2

251.4

251.6

251.8

us
l_

co
il6

usl_coil6:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

6779.5

6780

6780.5

6781

6781.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

6091

6091.5

6092

6092.5

6093

6093.5

6094

6094.5

6095

ru
n

run:cyclenum {run == 6093}



5413 5413.5 5414 5414.5 5415
cyclenum

15602.5−

15602−

15601.5−

15601−

15600.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

2518−

2517.5−

2517−

2516.5−

2516−

us
r_

co
il3

usr_coil3:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

5138.5

5139

5139.5

5140

5140.5

us
r_

co
il4

usr_coil4:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

334.5

335

335.5

336

336.5

us
r_

co
il6

usr_coil6:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

34186.5

34187

34187.5

34188

34188.5

us
r_

co
il7

usr_coil7:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

6091

6091.5

6092

6092.5

6093

6093.5

6094

6094.5

6095

ru
n

run:cyclenum {run == 6093}



5413 5413.5 5414 5414.5 5415
cyclenum

288.5−

288−

287.5−

287−

286.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

21.4−

21.2−

21−

20.8−

20.6−

20.4−

20.2−

20−

19.8−

19.6−

19.4−

19.2−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

316

316.5

317

317.5

318

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

286−

285.5−

285−

284.5−

284−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

41−

40.5−

40−

39.5−

39−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

237.2

237.4

237.6

237.8

238

238.2

238.4

238.6

238.8

239

239.2

239.4

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6093}



5413 5413.5 5414 5414.5 5415
cyclenum

202.5

203

203.5

204

204.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

71.5

72

72.5

73

73.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

19−

18.5−

18−

17.5−

17−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

213.5

214

214.5

215
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4e
Y

_c
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4eY_coil4:cyclenum {run == 6093}
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cyclenum
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19.8
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20.2
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21.2
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4e
Y
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4eY_coil6:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

17.5−

17−

16.5−

16−

15.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6093}



5413 5413.5 5414 5414.5 5415
cyclenum

237.5−
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236.5−
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235.5−12
X

_c
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12X_coil1:cyclenum {run == 6093}

5413 5413.5 5414 5414.5 5415
cyclenum

83.5−

83−

82.5−

82−

81.5−
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X
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12X_coil3:cyclenum {run == 6093}
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cyclenum
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2
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X

_c
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12X_coil4:cyclenum {run == 6093}
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cyclenum

7

7.5
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9
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X

_c
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12X_coil6:cyclenum {run == 6093}
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cyclenum
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X
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12X_coil7:cyclenum {run == 6093}
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cyclenum
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n

run:cyclenum {run == 6093}
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